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RHO (Right Hand Opponent) opens 1- what do you overcall with these hands? 

J7654  AQ52  KQJ852  52  Q2

62  QJ2  54  62  KJ654

  KQ85  A1085    J76    AKJ754    QJ75

  A9    A7  97    K97    A7

         

Pass  1NT  1  2  Pass 

 
 

What do you bid after the following auction?  

(1) - 1- (P) - ?      The opponents’ bids are in brackets and 1 is your Partner’s overcall 
A52  52  KJ52  QJ2  5

Q62  K62  AJ3  K6  KJ642

J7654  9754    KQJ74  AK1085    AJ852

97    AQ97    6  976  97

         

2  Pass  4  4  Pass 

 
 

What do you bid after the following auction?  

(1) - 2- (2) - ?   The opponents’ bids are in brackets and 2 is your Partner’s overcall 
A52  KJ2  KQJ52  AQ82  7

AQJ2  A962  Q62  KQJ982  AKQ3

32    AJ10  85    2    A43

J854    Q75  985  105    QJ765

         

3  3NT or 5  Pass  2  5 

 
 

What do you bid after the following auction?  

(1) – 1NT- (P) - ?  The opponents’ bids are in brackets and 1NT is your Partner’s overcall 

96  Q109763  K43  Q52  A5

AK62  54  J632  AK862  QJ73

86  42  63  975  854

KJ1032  985  Q954    J7  J1085

         

3NT  2  Pass  3  2NT 
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What do you score for the following contracts? 

1. 2 (non vul) making 2  110 

      

2. 2NT (vul) making 3  150 

      

3. 3 (non vul) making 3  110 

      

4. 4 (vul) making 4  620 

      

5. 4 (non vul) making 4  130 

      

6. 5♣ (vul) making 5  600 

      

7. 5 (non vul) making 6  480 

      

8. 3NT (vul) making 6  690 

      

9. 4 (vul) down 3  -300 

      

10. 5 (vul) down 1  -100 

      

11. 2 (non vul) down 3  -150 

      

12. 1NT (vul) down 2  -200 

      

13. 2NT (vul) making 3  150 

      

14. 3NT (vul) making 3  600 

      

15. 2 (non vul) making 4  170 

      

16. 4 (non vul) making 4  420 

      

17. 1NT (vul) down 2  -200 

 

Scoring 


